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Directions (1-5): TeAfIf@d U=l H UeeIarde fdeg (?) & TUWT W FIT AT 3T
1B T-

Q1 2%01“530—50%4:}1”240 =7

(a) 1270

(b) 1350

(c) 1430

(d) 1500

(e) 1400
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5 Wﬂf§+@+6=?

(a) 22

(b)12

(c) 18

(d) 15

(e) 28
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Q3.0.009 +0.001 + 10 +0.003 =7
(a) 0.0121

(b) 0.00121

(c)0.121

(d) 0.0123

(e) 1.0123
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Q4. 48% of 950 - 46% of 840 = ?
(a) 75



(b) 72

(c) 65.6

(d) 70.5

(e) 69.6
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15 165 3 . 3

L

QS.E 4 5 11

(a) 42.15

(b) 45.50

(c) 41.25

(d) 35.25

(e) 25.15
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Q6.8 9 3R 447 T HIAT 176 30T § 3R 29 3R 2 9fFer Fr HAd 4839 gl

Teh Ul I hIAd &7 87
(a)Rs. 16

(b)Rs. 14

(c)Rs. 12

(d)Rs. 18

(e) Rs. 20
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Q7. T8¢ ‘TOTAL’ & Uil &l fohciel 3TelT-37cldT el & cafedd fohar ST TehdT &7
(a) 120

(b) 60

(c) 48

(d) 72

(e) 84
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Q8.3 ek Tl T &TABel 616 T QAT E, AT S&AT IR T 87
(a) 76 THT
(b) 88 THY



(c) 96 THY
(d) 80 AHY
(e) 68 THT
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Q9. Ush 120 elleY N1 AR Ulel &7 fASOT §| Howhlgel & Ul & 3eIdrd 5: 3§ Tfe
AT T 30% sTEY fAerelr ST § 3R AW fAYOT A gl FT FHE AT Hes Sar

g, ol AT & 3rceled 3N U6l T AT U AT S|
(a) 7:3

(b) 5:8

(c)7:9

(d)11:4

(e) 4:7
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Q10.Teh 90 SfieX fASOT # gr 3N Uil &1 g 7: 281 IS fAs0r &1 o AT &
arell @ el fear S 8, dr g4 T Ul @ U 5: 281 Sirar g1 fAsor & fAare e

qreiT 1 AT A9 HIfev|
(a) 6 litre
B litre

(b)
12 litre

(c)
(d)

(e)
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10 = litre
29

17 ..
7 — litre
49

Directions (11-15): 37 YT &l 3R cof & fov fAsafaf@d ug-are &1 ‘i?il'IFI'CIﬁ
HEITA |



Total number of passengers = 8500
Percentage of Passengers

Q11.3d-S, - M, ¢o1- A 3R - L & Aemax anf3ar fr 3iraa awar feaesr o4
(a) 1521

(b) 1641

(c) 1651

(d) 1530

(e) 1691
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Q12.3f¢ ¢I-R & 34 wfaerd I Afgat § 3R 26 ufaed gaeisk & 39 ¢ &
TSI I HET el 87

(a) 306

(b) 316

(c) 308

(d) 318

(e) 324
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Q13.¢+T-Q & AT 1 FEaT, TA-A 3R A-R & IIIGT T Fool HEAT T ST febeter
gfaera §?

(a) 90

(b) 70

(c) 75



(d) 80

(e) 86
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Q14.frg ¢ & Al & Tear gew s &2
(@A

(b) Q

(c)S

(dM

(e) L
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Q15.¢T M IIMITT &1 FE&AT, ¢oA-L H FITIAT &1 FE&AT T Jololl H ST Tohetal

gfaerd 8 a1 & g7
(a) 29

(b) 49

(c) 43

(d) 33

(e) 39
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QCreator Deepak Rohilla

Solutions

S1. Ans.(b)
Sol.
7 50
?=—=xX 630 ———x 240
3 100
= 1470 — 120

= 1350

S2. Ans.(d)

Sol.
?—9x4+18
T 3 6
7=12+3

?7=15



S3. Ans.(a)
Sol.
?=0.009 + 0.0001 + 0.003

?=0.0121

S4. Ans.(e)
Sol.

48 46
?7=——x 950 — ——x 840
100 100

= 456 — 386.4
= 69.6

S5. Ans.(c)
Sol.
15 165 3 11

= —X—X-X—
33 4 "5 3
_ 165

4
= 41.25

S6. Ans. (e)
Sol.

Let cost of one pen and one pencil
are Rs. x and Rs. y respectively.
~Bx+ 4y =176

or2x +y = 44...(i)

and

2x + 2y = 48

orx + vy = 24..[ii)

from (i) - (ii),

x = 20
S7. Ans.(b)
Sol.

Required no. of arrangements = f_. = 60

S8. Ans.(b)
Sol.



Area of circle = mr?, where r = radius of circle
Lrt =616

22 ,
#?Xr' = 616

=r’ =196
= r=14cm

22
. Perimeter = 2 X ? #* 14 = 88 cm

S9. Ans.(c)
Sol.
Quantity of mixture left after making

change before adding water

70
=120 X —
100

=841
In this mixture quantity of alcohol

5
== x B4
8

= 5251
And quantity of water =84 -52.5=3151i
Now, after adding water to the mixture,

Net quantity of water = 31.5 + 30 = % =67.51i
525 7

~ Required ratio = ——=—
675 9

S10. Ans.(e)
Sol.
Let x li of water is added to the mixture.

7
Initial quantity of milk = 5 ®x90 =701l
and that of water=90-70=201i
ATQ,70 — Zx = ZX 90

630—7x _ 450

or, =
e 7
D]‘;x:ﬂ: ?1_'1 Ir_
49 29
S11. Ans.(d)

Sol.



Required average no.

1
=X (24+20+15+13) x 85

1
—EK?EKEE

= 1530

S12. Ans.(a)
Sol.

No. of males in train- R=9 % 85 —%x 9 % B85

40
=——xX9 X85
100

= 306

S13. Ans.(e)
Sol.
Required percentage

> 100

“13+9
~ 8604

S14. Ans.(d)
Sol.
Train-M

S15. Ans.(d)

Sol.

Required percentage
20 — 15

~ 15

=33.33%

o 330

* 100



